
 

1 | Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 
 

 
 
 
 
 
 
 
 
 

TNPSC GROUP I – 2020 
MODEL EXAMINATION – I (ANSWER WITH MATHS SOLUTION) 
 

1 2 3 4 5 6 7 8 9 10 
B A B B D D D B B B 

11 12 13 14 15 16 17 18 19 20 
B D D C D B A A A C 

21 22 23 24 25 26 27 28 29 30 
D C D C B C D A C D 

31 32 33 34 35 36 37 38 39 40 
D C C C C C D D C C 

41 42 43 44 45 46 47 48 49 50 
A B D A A C B B B B 

51 52 53 54 55 56 57 58 59 60 
D B C B C C A D B D 

61 62 63 64 65 66 67 68 69 70 
C C C D C D C B D A 

71 72 73 74 75 76 77 78 79 80 
D B B D C C D C B C 

81 82 83 84 85 86 87 88 89 90 
D D B C C C C B C C 

91 92 93 94 95 96 97 98 99 100 
B C B A B C C D C D 

101 102 103 104 105 106 107 108 109 110 
A B A C D B D D B D 

111 112 113 114 115 116 117 118 119 120 
D A B B A B C B D A 

121 122 123 124 125 126 127 128 129 130 
B C A A B A A A B B 

131 132 133 134 135 136 137 138 139 140 
A A D D A D B B D C 

141 142 143 144 145 146 147 148 149 150 
C A D B C C C D B B 

151 152 153 154 155 156 157 158 159 160 
C C A D B B C C C D 

161 162 163 164 165 166 167 168 169 170 
D C C A B A B B C D 

171 172 173 174 175 176 177 178 179 180 
C A C D B C D A B A 

181 182 183 184 185 186 187 188 189 190 
C B A A A D B D C B 

191 192 193 194 195 196 197 198 199 200 
C D C B A D D D C C 
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36. Thirumagal's mother wears a bracelet made of 35 red beads and 30 blue beads. Thirumalgal wants 

to make smaller bracelets using the same two-coloured beads in the same ratio. In how many 
different ways can she make the bracelets? 
a. 1   b. 3   c. 4   d. 2  
jpUkfspd; jha; 35 rptg;G kzpfs; kw;Wk; 30 ePy kzpfisf; nfhz;l iff;fhg;G mzpe;jpUf;fpwhh;. 
jpUkfs; mNj tpfpjj;jpy; rpwpa iff;fhg;ig mNj ,U tz;z kzpfisg; gad;gLj;jpr; nra;a 
tpUk;Gfpwhs;. mtshy; vj;jid ntt;NtW topfspy; iff;fhg;Gfisr; nra;a ,aYk;?  
a. 1   b. 3   c. 4   d. 2  
 
Solution:  
 ratio of Red beads  : Blue beads  

  35     30  

  7    6 

 
7 2 14 14:12

126 2


= =


; 

7 3 21
21:18

6 3 18


= =


 

 and 
7 4 28

28:24
6 4 24


= =


 

then, 7 : 6, 14 : 12, 21 : 18, 28 : 24)   
four different ways.  

 
37. Priyanka took a loan of Rs. 10000 from a landlord at 20% of simple interest. She paid Rs 5000 at the 

end of the 2nd year. How much money she should pay at the end of the 5th year to close the debt?  
a. Rs. 14000  b. Rs. 10000  c. Rs. 12000  d. none of these   
gphpaq;fh vd;gth; &10000 I fldhf 20% jdptl;bapy; ngw;whh;. ,U tUlq;fSf;F gpwF &5000I 
nrYj;jpdhh;. Ie;J tUl Kbtpy; flid fl;b Kbg;gjw;F vt;tsT njhifia nrYj;j Ntz;Lk;?  
a. Rs. 14000  b. Rs. 10000 c. Rs. 12000  d. ,it vJTkpy;iy  
 
solution:  

 P = 10000   R = 20%  
1 tUlj;jpw;F tl;b = 2000  
,UtUlj;jpw;F $Ljy; = 10000 + 2 × 2000 = 14000 
  kPjk; = 14000 – 5000 = 9000 
nrYj;j Ntz;baJ = 9000 
,d;Dk; %d;W tUlj;jpw;F gpwF nrYj;j Ntz;ba nkhj;j njhif = 9,000 + 3 × (20% of 9000) = 
14400 

 
38. There are 800 soldiers in an army camp. There is enough provisions for them for 60 days. If 400 more 

soldiers join the camp, for how many days will the provisions last?  
 a. 120   b. 60   c. 80   d. 40  

xU uhZt Kfhkpy; 800 tPuh;fs; ,Uf;fpwhh;fs;. mth;fSf;F 60 ehl;fSf;F NghJkhd kspif 
rhkhd;fs; cs;sd. me;j Kfhkpw;F NkYk; 400 tPuh;fs; te;J Nrh;e;jdh; vdpy; vj;jid ehl;fSf;F 
me;j kspif rhkhd;fs; NghJkhdjhf ,Uf;Fk;?  

 a. 120   b. 60   c. 80   d. 40  
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Solution:  
  Total unit = 800 × 60  
     = 4800 unit  
  Initially perday = 800 units  
  next, Extra 400 soldiers joined,  
   total = 800 + 400 = 1200  
  Now, perday = 1200 units completed  

    = 
4800

40
1200

days=  

 shortcut:  
  Soldier    Days  
     800    60  
  (800 +400)    ?   (Indirect proportion)  
  800 × 60 = 1200 × x  
    x = 40 days  
 
 
39. Sara baked cakes for the school festival. The cost of one cake was Rs. 55. she sold 25 cakes and made 

a profit Rs 11 on each cake. find the profit percent  
a. 30%   b. 25%  c. 20%  d. 40%  
xU gs;sp tpohtpw;fhf rhuh> Nff; nra;jhs;. xU Nff;fpd; mlf;f tpiy &55. rhuh 25 Nff;Ffis 
tpw;W xt;nthU Nff;fpYk; &11 ,yhgk; mile;jhs; vdpy; ,yhg rjtPjj;ij fhz;f.  
a. 30%   b. 25%  c. 20%  d. 40%  
 
Solution:  

  cost price of 1 cake = ì 55  
  Number of cakes sold = ì  25 
  Cost price of 25 cakes = 55 × 25 = ì 1375 
   profit on 1 cake = ì  11  
  profit on 25 cakes = 11 × 25 = ì  275  
    S.P = CP + profit  
     = 1375 + 275 
     = ì 1,650  

   Profit % = 100
.

profit

C P
  

    
275

100
1375

  = 20 

   Profit % = 20  
 
40. A window is in the form of trapezium whose parallel sides are 105 cm, 50 cm respectively and the 

distance between the parallel sides is 60 cm. find the cost of the glass used to cover the window at 
rate of Rs. 15 per 100 sq.cm.  
a. Rs. 667.5   b. Rs. 727.5  c. Rs. 697.5  d. Rs. 637.5  
xU [d;dyhdJ rhptftbtpy; mike;Js;sJ. mjd; ,izg;gf;fq;fs; 105 nr.kP kw;Wk; 50 nr.kP 
MFk;. mjd; ,izg;gf;fq;fSf;F ,ilNa cs;s njhiyT 60 nr.kP vdpy;> me;j [d;dYf;F 100 
r.nr.kPf;F & 15 tPjk; fz;zhb mikf;f MFk; nkhj;j nryT.  
a. Rs. 667.5   b. Rs. 727.5  c. Rs. 697.5  d. Rs. 637.5  
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Solution:  
 parallel sides a = 105 cm; b = 50 cm; h = 60 cm;  
 

 area of the Trapezium = 1
2

 (a+b)h  

     = 1
2

(105 + 50) × 60  

     = 1
2

 × 60 ×155 

cost of the glass to cover the window per 100 sq.cm = Rs. 15   

  Total cost   = 
15 1 60 155

2100
    

     = 697.50  
 
76. The radius of a circular cricket ground is 76 m. A drainage 2 m wide has to be constructed around 

the cricket ground for the purpose of draining the rain water. Find the cost of constructing the 

drainage at the rate of ₹180/- per sq.m. 
a. 174960  b. 171360  c. 174240  d. 175140  
tl;l tbt kl;il ge;Jj; (cricket) jplypd; Muk; 76 kP me;j jpliyr; Rw;wpYk; 2 kP mfyj;jpy; 
kioePh; tbtjw;fhd tbfhy; (drainage) mikf;f Ntz;b ,Ue;jJ. xU rJu kPl;lUf;F & 180 tPjk; 
nrythdhy; me;j tbfhy; mikf;f Njitahd nkhj;j njhif  
a. 174960  b. 171360  c. 174240  d. 175140  
 
Solution:  

 The radius of the inner circle (cricket ground), r = 76 m 
 A drainage is constructed around the cricket ground. 
 Therefore, the radius of the outer circle, R = 76 + 2 = 78 m 

 We have, area of the circular path = ( )2 2R r −  sq. units 

       = 2 222
(78 76 )

7
 −  

       = 
22

(6084 5776)
7
 −  

       = 
22

308
7
  

       = 22 × 44 = 968 m2 

 Given, the cost of constructing the drainage per sq.m is ₹180. 

 Therefore, the cost of constructing the drainage = 968 ×180 = ₹1,74,240. 
 

77. In an A.P. the sum of first n terms 
25 3

2 2

n n
+ . Find the 17th term.  

a. 664   b. 748   c. 48  d. 84  

xU $l;Lj; njhlh; thpirapy; Kjy; n cWg;Gfspd; $Ljy; 
25 3

2 2

n n
+  vdpy; 17tJ cWg;G  

a. 664   b. 748   c. 48  d. 84  
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Solution:  

 
  

2

16

5 (16) 3 16 1280 48
664

2 2 2 2
S

 
= + = + =  

t17 = S17 – S16 = 748 – 664 = 84 
 
78. Kumar writes a letter to four of his friends. He asks each one of them to copy the letter and mail to 

four different persons with the instruction that they continue the process similarly. Assuming that 

the process is unaltered and it costs ₹2 to mail one letter, find the amount spent on postage when 
8th set of letters is mailed.  
a. 65536  b. 65535  c. 174760  d. 82340  
Fkhh; jdJ ez;gh;fSf;F fbjk; vOJfpwhh;. NkYk; jdJ ez;gh;fis mth;fs; xt;nthUtUk; 
ehd;F ntt;NtW ez;gh;fSf;F fbjk; vOJkhWk; kw;Wk; ,e;j nray; Kiwiaj; njhlUkhWk; 
$Wfpwhh;. ,e;jr; nray;Kiw njhlh;r;rpahf eilngWfpwJ. xU fbjj;jpw;fhdr; nryT &2 vdpy; 8 
Kiw fbjq;fs; mDg;Gtjw;F MFk; nkhj;j nryT  
a. 65536  b. 65535  c. 174760  d. 82340  
 
Solution:  

 Total letters in the first set = 4 
 Total letters in the second set = 42 = 16  
 Total letters in the third set = 43 = 64 
 so the sequence of letters is 4, 16, 64, ..........  

 Here a = 4, r = 
16

4
= 4 and n = 8; 

   Sn = 
8( 1) 4(4 1)

1 4 1

na r

r

− −
=

− −
 

   = 
4 4

(65536 1) 65535
3 3

− =   

   = 87380  
since amount of postage per letter is ì 2  
Total amount spend on postage = 87380 × 2 = ì 174760  

   
79. Find the value of the sum:-  

3 + 5 + 6 + 9 + 10 + 12 + 15 + 18 + 20 + .... + 100  
a. 2648  b. 2418  c. 2128  d. 2368  
,j;njhlhpd; $Ljy; fhz;f.  
3 + 5 + 6 + 9 + 10 + 12 + 15 + 18 + 20 + .... + 100  
a. 2648  b. 2418  c. 2128  d. 2368  
solution:  
(3 + 6 + 9 + 12 + 15 + .... + 99) + (5 + 10 + 15 + 20 + ... + 100) – (15 + 30 + ...+ 90)  
= 3 (1+ 2 + 3 + .... + 33) + 5 (1+ 2 + 3+ ....+ 20) – 15 (1 + 2 + 3 + .... + 6)  

sum of first n natural number = 
( 1)

2

n
n

+
 

  ( )33 34 20 21 73 5 15 6
22 2

    
+ −    

   
 

  1683 + 1050 – 315 = 2418 
 
 

2

17

5 (17) 3 17 1445 51
748

2 2 2 2
S

 
= + = + =
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80. Simplify: 
2 2

2

12 22 8 3 2 8

3 2 4

t t t t

t t t

− + + −


+
 

RUf;Ff: 
2 2

2

12 22 8 3 2 8

3 2 4

t t t t

t t t

− + + −


+
 

a. 
4(2 1)

3

t +
  b. 

(2 1)

3

t +
  c. 

4(2 1)

3

t −
  d. 4 (2t + 1)  

Solution:  

  = 
2 2

2

12 22 8 2 4

3 3 2 8

t t t t

t t t

− + +


+ −
 

  = 
( ) ( )2 2

2

2 6 11 4 2 2

3 3 2 8

t t t t

t t t

− + +


+ −
 

  = 
2 3 4t −( )(2 1)

3

t

t

− 2 t


( 2)t +

(3 4)t − ( 2)t +
 

  
( )4 2 1

3

t −
 

 

116. LCM of 2 2 3 3 3(2 3 ) , (4 6 ) , (8 27 )x xy x y x y− − −  
2 2 3 3 3(2 3 ) , (4 6 ) , (8 27 )x xy x y x y− − −  ,tw;wpd; kP.rp.k  

a. 2x2 (2x – 3y)3 (4x2 + 6xy + 9y2)  
b. 23 x2 (2x – 3y)3 (4x2 + 6xy + 9y2)  
c. 23x2 (2x - 3y)2 (4x2 + 6xy + 9y2)  
d. 8x3 (2x – 3y)3 (4x2 + 6xy + 9y2)  
 
Solution:  

 (2x2 – 3xy)2 = ( )
2

(2 3x x y−    

   = x2 (2x – 3y)2 

 (4x – 6y)3  = 23 (2x – 3y)3 
   = 23 (2x – 3y)3 
 8x3 – 27y3 = (2x)3 – (3y)3  
 L.C.M = 23x2 (2x – 3y)3 (4x2 + 6xy + 9y2)  

 
117. A passenger train takes 1 hr more than an express train to travel a distance of 240 km from Chennai 

to Virudhachalam. The speed of passenger train is less than that of an express train by 20 km per 
hour. Find the average speed of the express train.  
a. 60 km/hr  b. 40 km/hr   c. 80 km/hr  d. 120 km/hr 
nrd;idapy; ,Ue;J tpUj;jhr;ryj;jpw;F 240 fp.kP J}uj;ij flf;f xU gazpfs; njhlh; tz;bf;F 
xU tpiuT njhlh; tz;bia tpl 1 kzpNeuk; $Ljyhf Njitg;gLfpwJ. gazpfs; njhlh;tz;bapd; 
Ntfk;> tpiuT njhlh; tz;bapd; Ntfj;ijtpl 20 fp.kP / kzp FiwT vdpy;> tpiuT njhlh; 
tz;bapd; ruhrhp Ntfk;?  
a. 60 fp.kP / kzp b. 40 fp.kP / kzp  c. 80 fp.kP / kzp d. 120 fp.kP / kzp  
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Solution:  
  Let the average speed of passenger train be x km/hr.  
  Then the average speed of express train will be = (x + 20) km/hr  

  Time taken by the passenger train to cover distance of 240 km 
240

x
 hr  

  Time taken by express train to cover distance of 240 km= 
240

20x+
hr  

 

 Given, 
240 240

1
20x x

= +
+

 

 
1 1

240 1 ,
20

gives
x x

 
− = + 

 
20

240 1
( 20)

x x
we get

x x

 + −
= 

+ 
 

 2 20 4800 0x x+ − = gives, ( 80)( 60) 0x x+ − = we get, x = - 80 or 60. 

 
 Therefore = 60 (Rejecting – 80 as speed cannot be negative)  
 Average speed of the passenger train is 60 km/hr  
 Average speed of the express train is 80 km/hr. 

 
118. If (x – 6) is the HCF of x2 – 2x – 24 and x2 – Kx – 6 then the value of K is  

a. 3   b. 5   c. 6   d. 8  
x2 – 2x – 24 kw;Wk; x2 – kx – 6 Mfpa ,U Nfhitfspd; kP.ngh.t (x – 6)  vdpy; K d; kjpg;G  
a. 3   b. 5   c. 6   d. 8  
 
Solution 
 
(x2 – 2x – 24),   (x2 – kx – 6)  
from option   
Put K = 5     
(x + 4)              x2 – 5x – 6 
    (x + 1)                  
       
 
HCF is (x -6);    
  K = 5  
      

119. 4 persons live in a conical tent whose slant height is 19 m. If each person require 22 m2 of the floor 
area, then find the height of the tent.  
a. 18 m   b. 18.5 m  c. 18.75 m  d. 18.25 m  
rhAAuk; 19 kP nfhz;l $k;G tbt $lhuj;jpy; ehy;th; cs;sdh;. xUtUf;F 22 r.kP gug;G Njit 
vdpy;> $lhuj;jpd; cauk; vd;d?  
a. 18 kP   b. 18.5 kP  c. 18.75 kP  d. 18.25 kP  
 
Solution:  
 Area of Each person required = 22 cm2  

     2 222 4r cm =   

    
22 2

88
7

r
=

4
2cm  

    2 2h l r= − ; r2 = 28   

   2(19) 28h= − ; 333h =   

     h = 18.25 m  

(x-6)   
(x-6)   
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120. A hemi-spherical tank of radius 1.75 m is full of water. It is connected with a pipe which empties 

the tank at the rate of 7 litre per second. How much time will it take to empty the tank completely? 
(approximately) 
a. 27 min  b. 25 min  c. 1517 min  d. 1548 min 
Muk; 1.75 kP cs;s Xh; miuf;Nfhs tbtj; njhl;b Kw;wpYk; ePuhy; epug;gg;gl;Ls;sJ. xU Fohapd; 
%yk; tpehbf;F 7 ypl;lh; tPjk; njhl;bapypUe;J ePh; ntspNaw;wg;gLkhdhy; njhl;bia vt;tsT 
Neuj;jpy; KOtJkhf fhyp nra;ayhk;. (Njhuhakhf)  
a. 27 epkplq;fs;    b. 25 epkplq;fs;  
c. 1517 tpdhbfs;   d. 1548 tpdhbfs;  
 
Solution:  
 Radins of hemispherical tank r = 1.75 m  

 volume of the tank   = 32
3

r  

      = 
222 (1.75)

3 7
   

      = 11.225 m3 
      = 11225 litres  
The cylindrical pipe empties the tank at rate 7 litre per second.  

    = 
volume

Rate
 

    = 
11225

1604sec
7

=  

    = 27 min (app)  
  
156. A page is selected at random from a book. The probability that the digit at units place of the page 

number chosen is less than 7 is 

a. 
3

10
   b. 

7

10
   c. 

3

9
  d. 

7

9
  

xU Gj;jfj;jpy; ,Ue;J rktha;g;G Kiwapy; xU gf;fkhdJ Njh;e;njLf;fg;gLk;NghJ me;j gf;fj;jpd; 
xd;whk; ,yf;fk; 7 I tpl Fiwthf tu epfo;jfT?  

a. 
3

10
   b. 

7

10
   c. 

3

9
  d. 

7

9
  

 
Solution:  
 S = {0, 1, 2, 3 .... 9} 
  n (s) = 10  
 less than 7  
  A = {0, 1, 2 .... 6} 
  n (A) = 7  

  P (A) = 
( ) 7

10( )

n A

n S
=  

  
157. The mean and standard deviation of 15 observations are found to be 10 and 5 respectively. On 

rechecking it was found that one of the observation with value 8 was incorrect. Calculate the correct 
mean and standard deviation if the correct observation value was 23?  
a. 11, 4.6   b. 11, 5.1   c. 11, 5.9  d. 11, 5.3  
15 tptuq;fspd; $l;L ruhrhp kw;Wk; jpl;l tpyf;fk; KiwNa 10 kw;Wk; 5 MFk;. jpUk;g rhpghh;f;ifapy; 
xU tptuj;jpd; kjpg;G 8 vd;gJ jtwhf vLf;fg;gl;Ls;sJ vd njhpate;jJ. mjd; rhpahd kjpg;G 23 
vdpy; rhpahd ruhrhp kw;Wk; jpl;ltpyf;fk; fhz;. (Njhuhakhf)  
a. 11, 4.6   b. 11, 5.1   c. 11, 5.9  d. 11, 5.3  
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Solution:  
 difference = original – wrong  
   = 23 – 8  
   = 15  

 mean = 
15

1
15

=  

 actual mean = 10 ;  
 correct mean = 10 + 1 = 11 

 S.D 

22

( )
x x

h n


 
= − 

 

 
 

  

2

2(11)
15

x
= −


 

 Incorrect value   = 5 

2

2(10)
15

x
= −


 

  25 = 

2

100
15

x
−


 

  2 1875x =  

 correct value = 1875 – 82 + 232 = 2340  

 correct 
22340

11
15

 = −  

  = 35 5.9 =  

  

158. Simplify: ( ) ( )9 68 6 63 175 28 + − +  

a. ( )
1
32

3
  b. ( )

1
42

3
  c. 6 2

3
  d. 9 2

3
 

RUf;Ff: ( ) ( )9 68 6 63 175 28 + − +  

a. ( )
1
32

3
  b. ( )

1
42

3
  c. 6 2

3
  d. 9 2

3
 

 
Solution:  

 

1
9 9

16
6

8 8
;

6 6
=      LCM of 6, 9  

 = ( )
1 1

2 18 118
6

3

8 8 2
36 27

   
= =   
  

 

   = 6 2
3

 

next,  

 63 175 28 9 7 25 7 4 7− + =  −  +   

   = 3 7 5 7 2 7− +  

   = 0 

   6 62 20
3 3
+ =  
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159. If (x + 5) and (x – 3) are factors of ax2 + bx + c, then value of a, b, c are  
a. 1, 2, 3   b. 1, 2, 15  c. 1, 2, -15   d. 1, -2, 15  
ax2 + bx + c vd;w Nfhitf;F (x + 5)  (x – 3) fhuzpfs; vdpy; a, b, c d; kjpg;G  
a. 1, 2, 3   b. 1, 2, 15  c. 1, 2, -15   d. 1, -2, 15  
 
Solution:  
  (x + 5) × (x – 3) = x2 – 3x + 5x – 15 = 0  
   = x2 + 2x – 15 = 0       → 1 
 
 ax2 + bx + c = 0         → 2 
Comparing 1 & 2  
weget,  a = 1, b = 2, c = -15  

 
160. In a right angle triangle, angles are in the ratio 30° : 60° : 90° then the sides are in the ratio  

a. 1 : 3 : 2   b. 1 : 2 : 3  c. 3  : 1 : 2   d. 1 : 3 : 2  

xU nrq;Nfhz Kf;Nfhzj;jpd; Nfhzq;fspd; tpfpjq;fs; 30° : 60° : 90° vdpy; mtw;wpd; gf;fq;fspd; 
tpfpjk;  

a. 1 : 3 : 2   b. 1 : 2 : 3  c. 3  : 1 : 2   d. 1 : 3 : 2  

 
Solution:  
  From option;  

       
using Pythagoras theorem  
 AC2 = AB2 + BC2  

 (2)2 = ( ( )
2

23 (1)+  

 4 = 4  
 verified  

 
196. The sides of the triangular ground are 22m, 120m, 122m. Find the area of the ground.  

a. 1100  b. 1210  c. 1430  d. 1320  
xU Kf;Nfhz tbt epyj;jpd; gf;fq;fs; KiwNa 22kP> 120 kP> 122 kP vdpy; me;epyj;jpd; gug;G?  
a. 1100  b. 1210  c. 1430  d. 1320  
 
Solution:  
 a = 22; b = 120;  c = 122 

 Area of the triangle = ( )( )( )s s a s b s c− − −  

   
2

a b c
s

+ +
=  

   = 
22 120 122

2

+ +
 

   s = 132  
   s – a = 132 – 22 = 110  
   s – b = 132 – 120 = 12 
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   s – c = 132 – 122 = 10  

  Area = 132 110 12 10    

   = 11 12 11 10 12 10      

   11 × 12 × 10 = 1320 
   
197. P and Q can do a piece of work in 12 days and 15 days respectively. P started the work alone and 

then, after 3 days Q joined him till the work was completed. How long did the work last? 
a. 3 days   b. 6 days   c. 5 days   d. 8 days  

P kw;Wk; Q KiwNa xU Ntiyia 12 ehl;fs; kw;Wk; 15 ehl;fspy; Kbg;gh;. P vd;gth; me;j 
Ntiyia njhlq;fp %d;W ehl;fSf;F gpwF Q Nrh;e;J mt;Ntiyia Kbf;fpd;wdh; vdpy;> vt;tsT 
ehl;fs; me;j Ntiyia KOtJkhf Kbf;f MfpapUf;Fk;?  
a. 3 ehl;fs;   b. 6 ehl;fs;  c. 5 ehl;fs;  d. 8 ehl;fs;  
 
Solution:  
 P = 12 days; Q = 15 days    Total = 60 units  
 LCM of 12, 15 = 60  

 P = 60
12

 = 5 units (per day)  

 Q = 60
15

= 4 units (per day  

1st, 3 days P only = 3 × 5 = 15 units (Completed by P)  
 Remaining 45 units  
 P + Q = 9 units (per day)  

  
45

9
= 5 days  

 Total days = 3 + 5 = 8 days  
 
198. Find the rate of compound interest at which a principal becomes 1.69 times itself in 2 years. 

a. 13%   b. 23%  c. 27%  d. 30%  
$l;L tl;bKiwapy; ,uz;L Mz;Lfspy;> nkhj;j njhifahdJ mriyg;Nghy 1.69 klq;F vdpy; 
tl;btPjk; vd;d?  
a. 13%   b. 23%  c. 27%  d. 30%  
 
Solution 

Amount A = P 1
100

n
r 

+ 
 

 

 Principal = amount  

  1.69 P P=

2

1
100

r 
+ 

 
 

  1.69 = 

2
100

100

r+ 
 
 

    (/(130)2 = 16900 

  16900 = (100 + r)2 
  r = 30%  

  
199. Divide Rs. 350 among P, Q, R such that P gets 50% of what Q gets and Q gets 50% of what R gets?  

a. 100, 200, 50  b. 200, 125, 25  c. 50, 100, 200  d. 75, 125, 150  
R vd;w egh; ngWtjpy; 50% I Q vd;w egUk; Q ngWtjpy; 50% I P vd;w egUk; ngWkhW P, Q, R 
vd;w %d;W egh;fSf;F & 350 I gphpf;fTk;.  
a. 100, 200, 50  b. 200, 125, 25  c. 50, 100, 200  d. 75, 125, 150  
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Solution  
 R  :  Q  :  P  
 Initially take  R = 100%  
 R  :  Q :  P  
 100% :  50% :  25%  
   4 :  2 :  1  
 4 + 2 + 1 = 7 part = 350  
 P = 1 part = 50 Rs 
 Q = 2 part = 100 Rs  
 R = 4 part = 200 Rs  

  
200. Complete the given series  

23, 34, 47, 62, 79, ?  
a. 93   b. 102  c. 98  d. 107 
nfhLf;fg;gl;Ls;s njhliu epiwT nra;f.  
23, 34, 47, 62, 79, ?  
a. 93   b. 102  c. 98  d. 107 
 
Solution 
 
  23 34 47 62 79 
 
 
difference        11      13      15        17        19  
   79 + 19  = 98  

 

 


